A & 0l & A & F Al
20138 S0& &= AMBSEIH A
SH ABSEAYA
Zu: N4T Be
Sl AY L 24T 22 (4T ASSELEFA) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AT AL 5,253,320 5,317,760 64,440
& 315,000
e 4,938,320
a5 2t 4,802,601 4,878,029 AT5,428
z 315,000
s 4,487,601
Y L ZAM>T A (M- AMSSESH) 4,802,601 4,878,029 AT5,428
= 315,000
s 4,487,601
A AIENE 1,411,149 1,347,799 63,350
101 @124l 38,689 34,943 3,746
04 JIZHHZ2XNSE+ 38,689 34,943 3,746
0 &% 22l gREX(1Y) 17,561
o Ji2g 38,8903 » 280 10,890
o FRYE 38,890& » b2 2,023
o ElREmgsY 38,890& * 10 389
o AN 224y
6,870 * 30AI2t = 128 2,474
o ZUAZILREEZ 15,776,000& * 4.5% 710
o [UALSBERES 15,776,000& * 2.9% 458
o NEEH™ 15,776,000& * 1.3% 206
o MHEH 15,207,000& * 2.5% 381
o FIRLYEERES 441,003 = 6.6% 30
0 +CHEFA(Y) 21,128
o J2g 45,500& » 280 12,740
o FRYE 45,500 * 52 2,366
o ElREsgsY 45,5002 « 152 683
o A 224y
8,530 * 30AI2t = 128 3,071
o ZUAZILREEZ 19,884,000& * 4.5% 895
o [UAASEERE S  19,884,000& * 2.9% 577
o NEEH™ 19,884,000& * 1.3% 259
o MUHEH 19,884,000& * 2.5% 498
o FIRLYEERES 577,000& = 6.6% 39
206 M= Hl 109,000 99,000 10,000
01 24l 109,000 99,000 10,000
0 AHEI 2 30,000& = 1,000H 30,000
0 HEI 258 #+Y 36,000
0 E=8 UMY 30,000
0 &E&H 7L 5,000
0 8==Xcl 4357 7,000
0 =23 AME M2 P& 1,000
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AN dot=SAFE A
HE: M4E el
el X U BANAT BRA(M4ETAASHIIH) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,394,960 1,443,030 A 48,070
0 Z2YaC (MM Y, AFY, ALS) 1,394,960
03 AIE 2 THHI 5,040 5,200 A 160
0 4= At AIE=R Y 5,040
=T EHJIEAH = 101,040 101,040 0
401 A& HIZ 201 Y] 101,040 101,040 0
01 A& HI 101,040 101,040 0
0 =S FHIJI=2HE(14]) 101,040
AN E B3 3,000 3,000 0
301 et a3z 3,000 3,000 0
12JIEE43 3,000 3,000 0
0 =541 T4 20,000& = 1509 3,000
a=E2FXH 1,314,412 1,232,160 82,252
201 Let24d] 1,287,652 1,208,400 79,252
01 At 22l 53,000 73,000 A 20,000
0 MMARE ¢ 4,000
0 MOt Ze|tHEl =& 6,000
0 &dot=E2a3 XA 5,000
0 =ZZM =& 38,000
02 2324l 1,234,652 1,135,400 99,252
0532= % HAl 1,202,052
0 HEH(E+&3 FH=-21, #HEXE) 15,600
0 AIEZHI =Xl 12,000
0 XtEd ety 5,000
202 044l 23,760 23,760 0
01 = LH o4 1l 23,760 23,760 0
0 =LHAYI 23,760
o ZLHA bl 170,000& » 9% = 12& 18,360
o 22l bl 50,0008 = 99 = 12& 5,400
405 XtatE SHI 3,000 0 3,000
01 AL EFH S 3,000 0 3,000
0 2&E POATR Y (LLAI) 1,500,000& * 2CH 3,000
LEEFANE HE S 20,000 47,000 A 27,000
403 UHXSHHSA=0l& 20,000 47,000 A 27,000
02 S| 2 S0il CHSHCH & A Bl 20,000 47,000 A 27,000
OGtsAaYM A2UESAEIHE = (50002) 20,000
arE SN 5,000 5,000 0
303 Z& 3 5,000 5,000 0




SA: ABIAZAIYA
M Mg pel
oo XY ¥ 2y 2ol (A4S AMaSEH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 243 5,000 5,000 0
0 =R+ NlsS NLSUHELY= 5,000
STESZF DT -H2AANE (Y0 D) EXNAL 450,000 500,000 250,000
2 315,000
= 135,000
401 AIEHI L 20 450,000 500,000 250,000
= 315,000
[ia 135,000
01 A& tl 446,760 500,000 A 53,240
0 SN TH Ml AIE (L0 AR AL 446,760
2 315,000
e 131,760
03 AIE S THHI 3,240 0 3,240
0 STH-TNSHLH2IMNE (L0 D)= I AL
A& ST 3,240
HE A (Aot=Z At L) 450,719 439,731 10,988
CIHARIH (MGt AL L) (AT ALEESIHA) 450,719 439,731 10,988
ol 2AY| 450,719 439,731 10,988
101 @124l 450,719 439,731 10,988
03 RIHAZ 22+ 450,719 439,731 10,988
0 A2 (129) 450,719
o Ji2g 1,625,260& * 1298 » 12& 234,038
o &= 234,038,000 = 4/12 78,013
o HXRESFII=E
45,5008 * 128 = 22¢ 12,012
o NA2RAY
8,530& = 12% = 48AI2+ « 128 58,960
o WESEXH 50,000& = 12% = 123 7,200
o A =+E 100,000& = 128  12&8 14,400
o ILUAIRE S 404,623,000& * 4.5% 18,209
o RALRHRYI
404,623,000& * 2.9% 11,735
o NEEH™ 404,623,000& * 1.3% 5,261
o MHEH 404,623,000& * 2.5% 10,116
o FIRAEE 11,735,000& * 6.6% 775




